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Derivative Worksheet #1

Find the derivative of the following functions:

1. f(t)=7t-12

2. f(x)=6

3. f(x)=12x*+3x2+7

4, y=-6x%+5x2-8x+2

5. d(t) = 360 + 40t — 16t2

6. g(t)=7t4— 413 + 612+ 9t — 19

7. y=2-4x+7x% —9x3

8. f(X) =0
9. f(x)=ex
10. (x) = e2

1. f(t) = (t+2)(t- 1)

12. y = (2x + 1)(3x + 4)
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Derivative Worksheet #2

Find the derivative of the following functions using product/quotient rules:

1. f(t)= (7t-12) (483

2. f(x) = 6(7x -3) (2x3)

3. f(x)= (2x*+3%x24 7) (9 - X?)

4. y=-(6x3+5x2-8x+2)(4-x)

5. d(t) = (4%) (10 - 41)

6. g(t) = (7t*- 4t) (6t2 + 9t - 19)

7. y=(2-4x)/ (x2 - 3x?)

8. f(x)=(2-3x+5x2 -8x%)/9

9. f(x)=eX/x

10. f(x) =e?/x*

11. f(t) = (6t +2)/ (7t - 1)

12. y=(2x+ 1)/ (3x + 4)
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Product & Quotient Rule Practice:

I i(x3 —2x+1Xx4 +x—3)
dx

2 d(x*+1
dx x> -1
3.i x2
dx\ sin x

d .
—(sin xcos x)
dx

> ;;(sinz x)

6 d(ﬁl)
dx\ ~x

7-d(1+sinxj
dx\1—cosx

9.d | &
dx| 1+ x

10. ;;(ZXex)

11. d[ 3*
3 x+1

12-1 x*—x-2
dx x+1

13. Find the equation of the tangent line to the curve = _ \/; at x=4
x+1
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Chain Rule Practice

1. %cos(xz)

4. itan3 \/;

9. i sin 2xcos3x
dx

d 2 X
10. — Xx~ cose
dx
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PRACTICE 1 - Implicit Differentiation

. dy
Find —: 1.y3+7y=x3
dx

2. 4xy-3y=x3-1

3. x2+5y3=x+9

4. Find Dy if #+ey-10y*=0

5. Find the equation of the tangent line to the curve y3—xy? + cos(xy) =2 at x =0.

2

2} at (2,1) if 2x%y — 4y3=4.
X

6. Find

7. Find the equation of the normal line (line perpendicular to the tangent line) to the curve 8(x? + y?)? = 100(x? - y?) at the point (3,1).
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PRACTICE 2 - Implicit Differentiation

Date:

Compute j—f for the problems below:

[—
' s

!_x:."

o

N

=I

10. -

4y =1

x? %u 1
2032 + 2 = 4x

iyt + 3022 =1

. bry + 3?2 = 442

(z +y)? = dzy

e™ + ry = 312
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PRACTICE 3 - Implicit Differentiation

1. Dufferentiate each expression, treating v as a function of x. (If vou cannot differentiate single

expressions accurately, vou certainly cannot use implicit differentiation on equations.)

3 . .

diy’ _ 4 25,95 =
@ —— = ©) = +2y7)

dsin{iv—exj _ d_ In(3x + 2v) ) =
© " = @ F(nGx+2y)) =
o dxv @ L O
e) . -

& (7y+T) = B) S (In(+y) + cos(2y) +1n(5) ) =
(@ FH(Ty+er )= () 5 (In(3+y) + cos(Zy) +1n(5) ) =

2. Use Implicit Differentiation on each equation to find %’ {or v')
@ 5% +2y =T7+y>+3x B X +2y =Ty+5x+4
(c) 1111[3+1:,rj|—|:|:|5(i'“.x}.|=vej"—x2 (d) X}r+cm(2}-’}=h1(?—xj)—?x +3

() tan( 2 + 51.;2 )+ xz}-j =ln(3+v) (§3] E‘Sx +sinf 3v )= 1.;3 + x':1 + 4



